K
N
2 _ 270.3
h [Z L -
o / o Y
Py 5 O 0.2 . % 5
oy @ w 270.1 y
A %D 78 o \ / \ o J/ 70. R [,
268.3 », 8 ,,// e ! q | —
: ‘ N k74 ) t
) 5041/58 A M o 269.7 / .
g k75 9 nq;, > ew
) 9.4 50 269,
x 3 md Wmm.m / @ 270.5 2691 / P
tf A 412 / -
/ %/ ; K70 ARV E—
S \ 2 . 269.5
W N/ &\ | 269; kes
268.1 © oty N a2, 8
S
ko9 NS m4 [ Pz, <
Vi 2605 [ m3 <
/ \ 65
\ . /) k62 <l / s S
K66 , {
( ® t N k61 28 269. oy / 60 D
/ / 294 & k58 K59 26898 wi/(/ 2646 <
m4 (S " k54 \»MQQQ k53 / : 269.0 O] 4,,&09. S
k55 / /K5 ) ¢ #- A 2/ © kot ¥ /
N % N P ” 268.6 5 o/ /8
N / o
p
£ ° . /N/N Ko P n [/ 3
.mm_@ .0 S N NM &
) \—\ Ny t () 7
6 7 3 S yayao
4 2 68.2 S ]
49 NN N > & 7 o~ @
¢ v, S (2N tias [ ® ‘ “ m ) 4 [ N
7 © ’ . (o),
W N , 2 K43 ) 268. / ka2
y 767.5 p 7 & 6o 3/- S o oot “ 68, "A170 ; : i
q : M.w\ 7. ) okm\mm S Y k41 1267.8 , )
&4
v (X / 7y
. Ue) QM*VO.. , 0o (26170 © w [Lw
%,0 - , k39 ; 4 o\ % 67.6 w
/ : ? - / YA , 0/ Diar N
/d, © 38 / Nr@ S Ue) w 5 67.9 N/ A
o P N 65, A N / 2 26, ) ' ©
k35 @&/ k g 1) / / 2 N N ,M @f? o
&, N ® 7 e k33 2 267.7 . 272.03
“eds RN S aumo 7 /6.7 QDQ\NAQ,@ / N 2 € 267, _ \ [l [o
- // ! £ _ : .
p S N K32 26 : 66.5
t 26
- 6.9 SN "9.3; 24368/ exDnedl K31 o0
2 N o %, > DA Q o
. o @ & ¥ h Y 267,14 Stud oy o N
X o] N 7 ¢ w 267: R ch
/Nu N & " 7/ , 2 ¢ 264.80
Q O; e 6. ¥ kd W N2 / S T A
. © 362/58 ) \ 2
. 4 A
! k26 v w 6.3 k25 23 26
VA N 267.1 266.7 266.2
SN w, *eﬂ@ § “onp & "
) o) % 12 266.83
6.3
\ o K21 Al Ny 265 '
- P \@QQ ¢ /muao /1 N . o
S
k17 k18 15
) k16
/ 6.4
LA 266. k14 S o _
£, 47 J i
AP S ) 266.4 i3 ) 4847/58
. 5{ & K11 " .
8] . <
I
N\ N -
) k10
AN 65.1 EnBrget &m#& Sp. z 00 W :nns 0
N o 0 \Kﬁm\ﬁo_ﬁ \ \ \ ?\&m&?&i w\s rge *x w\
2600 ¢ v/ komory MRU_ | = £
265.9 - N - No a:. a swc un, 7 ROCEAW
26578 < o, 265.9 OBIEKT: O a&. laNN IWINY LONECZNA 7
o Z &\MQ% ) 65.3
65.70 e - 57,/00/DUW
A ! x S \mm>2Nm\ \ m%_ ﬂ a |Pr xkx,\oi in ﬁﬂl«m&ﬁ Orkusz / /}
) k8 %mm. © S @.@ 6 ) Vs _um\lf >tm?m:,n \\ x / \ /// 3976456
265. i { f
2656 pspo |1/ [
I . (0] . \ %@\ﬂg mou\o‘_?/
65. L&u% 2655~ € & 2% % [ om.no,\\_. r m{ﬂr\tad_. - NR m<mc7
=N 0] - A 2 87~ / )
= Z w § ,X c /
pow\ﬂ " ¢ 5 \m&. > 4 - v—l>%$$w WﬂOO) —> l—-mmmz A Bi
65.4 g 2 N S 8
265.5 % -3 & k4 8
5.3 0
o 26 N e




